
�

مقايسه  لوله هاي بتني و
 پلي اتيلن در اجرا  

�������	��
�� 
���� � 
� ����

 ����
���� ����


 ������ !"



�

) ��� ��� 	
 (

����� 	
��
����

�
 	���� .....................................................................................................................................................................................
�

�
 ������ � ��� 	����� ......................................................................................................................................�

�
 ����� � 	����� .....................................................................................................................................................�!

"
 ���� 	����� ...................................................................................................................................................................�#

�
 �$���
 %�&
 	����� ...........................................................................................................................................�'



�

�
 	����

 (�) $��*++ ,�� �� % ./�)012��3 ��4 	525 �$ �1�$� $� 607�� � 68 9 :�; (����� $� ����� ��4 	525
 	
 < $ =�� �/�� ��&5�) $� =>/5� ����� �� ?/>@3�' % A)� 	���� B4�C �4 	525 ���) D��� � 	���� B��E�� .


 � F�� ?��� $� �&�8 $���$ =>/5� �
�� �� B��E�� :�$ 	
 :�$ �>/�)01 ��4 	525 :� %��G�)� 	>��� �2�� �
 H��1 $� :2�4 �&�8 �I��J ��&K�$ B���/1 :� ?L   �:���� �I��J ��4 M�$ �NC� A�/�I $� 9�K�
 �� ��&
�

�O� � ��� %��8 �2�2
 �:���� D�PQ�� ?
�  R$�� ��4 ./�)012��3 ?/ST3 �$ �&�8 ./�)U�2>��� V�2� ����23 
 ����O� .

 �� �W� 	
 607�� ��4 %X��1 ������ ��&K�$ $� ���4 ��)�C 9 $2@C $� 607�� AQ�Y R�2
 R�2� 	
 	�23 �

 Z/3 ��4 	@�� 9 ��2O[ � ��� \��]@� 9 ������ ��4 	��� =/^8 _�� 	
 ?C $� R�23 �� ��)�$ =�� $� 	C �)$

$�����)� 9 �2O� %$�K� ������ \�/^E� � 	
�@� ��4 %X��1 ���2]O4 ��[ � `5��� �/523 ��4 � .
 ��2K �� ���
 	�LJ ��: a�@
 	52�� =�� $� \0>@� =��3 �)�)�:

� ��� ���� ���� ���� 	
��

c>LK 	�K$ 	��1 �I�� d�&
 A)�&� R�;��$�8 ��; :� ���� $�  =O7 ���e 	C 607�� (����� � �$�8 fO�   A)�

 	WI0� 	��1 �I�� d�&
 A)�&� =�� $� �^�4 ��)�C 9 ���; �� �@��� (�) �4 ����
� $� 	��/5�) � g3�� \$2�

 h0�i 	C �$�� �2�� R8 $� �30>@� R��jO4 =>/5� %�K R8 $� �3�I0Y� 	
 ��� � $��� 	
 	�L5� �Y 	C ���; ��

� �$ �30>@� 	C ��$�2� 	
 	5��� =�� k272� g)��3 	
9 ����; �� gL) �4 %X��1 ����� � �4�$�8�
 </W�3 $
 A)� %�K %$�K� :

�
� 
�
 ?�� k272� �
07�� =S/3� �S1 ��4 	525 �
 �$�l; 	525 ��4 m��$ d�&
 	�En3 $� " �
 
 %$�K� 	�2oj/4 �&G��$ =�� d�&
 	�En3 $� (�N� R�2�[ 	
 �$��� �2�� �L)��3 �^���� ��&K�$

U��3� :� %��G�)� 	
 ��c/SC � A)� %�@� �4�S12C 	SO� :� �>/��>� \ M2� p�)��
 �4 m��$ 
 �K�
 �� �2�2� ������ M�$ :� �E/e�� �Y$� 	C ��� %�K d�&
 	�En3 �3$��I 	TGY �
 .

�
� 
�
 	�2oj/4 �$�&e ?�� k272� �
07�� =S/3� �S1 ��4 	525 �
 �$�l; 	525 ��4 m��$ �I�� d�&

��4 m��$ �I�� d�&
 �
 �L)��3�
07�� ���
 ��4 	525 �
 �$�l; 	525  ��$��� ��� ?�� k272�.

 %$�OK (��� $�  � �P  	
 �
07�� �$�l; 	525 \�/SO[ 	��; A@4 ��&G��$ =/
 �� 	����� 
��' ��4 m��$ �&�3 ���; �� 	WI0� 	C 	�2o��O4 	���; ��n�� =S/3� �S1 � ���
 ��� �S/�

 �� =�� =/
 ������ �W� :� \��G�� ��4 m��$ 	��E;� � � � + $� �;�  ��I 	C ��K�
 �� 
 $��K�L� $2��� �� 	��E4 	�2oj/4 �&G��$ =�� ���
 =S/3� �S1 ��4 	525 �
 �$�l; 	525 �����

 ���
 �$�l; 	525 �I�� d�&
 �
 g)��3��' ���I =S/3� �S1 �$�l; 	525 �I�� d�&
 �� �Y$�
;� 	C A)� �5�I$� =�� A)� %�K $2W�� ��OC $2W�� �$ g)���� AO/  E/� �&G��$ =�� ���
 �

 ���I 	
 %�K 	^�$�  AO/  ��C </^�O�"� �)$ �� �Y$�  .



�

 %$�OK (���)�( 
 ���
 � =S/3� �S1 �$�l; 	525 ��&G��$ �I�� d�&
 	�������'

 ���
 	525��'
 =S/3� �S1 ��4 	525

��' m
��$\�/SO[ a�K

�Y$�d�&
�Y$�d�&


 	
 =S/3� �S1 	525
25 g)��3���
 	5

� ��n�� � �$�l; 	525�/�� R��CE/O3
 �:U �$���
 	@�� ��4$�C

#�'�"+��!��'�"

�9 �4 ?�3� � �4 	525 ?OI � ��/;$�
 :�
 �:����$�
 � ����$�C :� ?�2T3 ?T�

�/�'��#+"�/��"�!�"�!�

� 	@���3 �GI�#���'"���'��!���'"
"P�3 	@���3 mC R��C %���8 � `/���"'��!����"'
� R�$� �4 �5��3� � �4 	525 R���$��

 �&�8 g�� � 	@���3
�+�'!+!�/�""!#�"!#�

! 	@���3 R�$� 	525 ��$ � D��J� �E��C��
 ����) F�� �
 9

+"�*!+��!�"�*!

+ 	525 ,� ���
 68 B���:8�/��"�"�*!**!*
# � B]1 E��C�� 9 ����) F�� R�/
2C

 �S/O>3 \�/SO[ � ���&�
�*��*���#�#�"��*��

 fO��''!�#''�''���''"�#'*

�
� 
�
 g��  � 	/&3 9 =S/3� �S1 ��&52&�� ����� 9 \U��3� � �S12C g��� 	/&3 ��&G��$ �2�� ��[
$ :� ��E;�� �4�$�8�
 	/&3 $� ���; �� gL) <&5�N�� � 6�Q@�� �4�$ 	) $�� %$��) ��4 m��

 �O� h0O[ $�� %$��) ��4 m��$ ��Y$� A�/
 A����T� 	
 	�23 �
 	C ���; �� %��G�)�
 m��$ R��E�� �)$ �� �W� 	
 	C 9 ���n�; �4�$�8�
 $�  �$ =S/3� �S1 ��&52&�� ����� R�23

�S12C g�� � 	/&3 m��Q3 � <�G4 ?�� $� =S/3� �S1 ��&52&�� g�� � A��) ���
 �^�4 � 
 �K�
 :�)$�C ���� ��4 ?�� �
 �$�&e ?�� $� \U��3� .

� ��� ����  �!
 "�#$%� � &'( )�* �%+, � ����-� )�* ���, .'/0
9 �^���� ��4 	��� =/^� �2�� ��[ ��&K�$ 	C %����; g�2� ��2O[ ��� \��]@� � Z/3 ��4 	@��

^�$� $��@� =/)��&� ,)23 	C ��� \��]@� 	
 r2�� h���Y ������ k2�3 ��� =�� � %����; 9 ��2K �� 	
H2T� $� �$ ���4 \��G3 � � 	525 D��J� ��4 BK21 9 ���� ... =�� 	
 	�23 �
 h��Q/LJ 	C ���O�/� ��n��

 ��I � %�2
 \��G�� 9 mS�]� ��4 %X��1 %�K ��O3 	��E4 � R�$�>��O/1 ���&�@/1 ��4 AO/  \��//s3
c����� R�>���O� �� gS) E/� �$ `/TY �� .



1

 (�) $�  k272� =�� :� `/TY F$� �
 �
�s��n��
$i8 607�� � 68 AC�K��#� =/)��&� �$�>O4 �
 
 ��4 %X��1 ���
 Z/3 ��4 	@�� � 607�� ��4$�C ��2O[ ��� \��]@� 	/&3 	
 ��� � 68:��� $��@�

H���T�9�2O� �2� ������ 	��@� =���3 �
 	���]LK2� �'� 	
 :�/� 	�L5��Y 	C 9 �4 ��o�:�
 � \�I0Y�
 A)� R�K fG3��  (�I $� _ �2� =�� :� �@]
 �$�� �^�4 ����E�� .

� ��� .2'(� �2� )�* ���� �'��( )�*34��,�5
�
 � %�2
 B��E�� (�I $� ��/oO@e �K$ �
 �
07�� =S/3� �S1 ��4 	525 �/523 \�n���$�C �7�I (�I$�

 B��E�� :�$ 	
 :�$ �4 	525 =�� �/523 A/��t9 ��
�� �� �4 	525 k2� =�� ���� ��4 	� ��� $� 	C ��I �3
 �S� �$�����)� �2�� ��[ 	
 	�23 �
 =>/5� 9 A)� %�K ��n�� R�;���C �/523 =/
 E/� ����K ��4 A
� $

 :� <[� ��$�� \��G�� ��4 �$�����)� :� R�;���C�/523 �4 	525 :� k2� =�� �/523DIN  9 ISO  9 
PREN �    ...G�)� ��� A/G/C �)$�
 $� �SWQ� 	
 ?��L3 �4 	525 ��G) %�$ k2� =//Q3 � %�2O� %��

A)� %�K �4 	525.H2T��o�� �2) :�	525 =�� �/523 �)$:�
 � (���C �
 	�G; B/1 ,���K 	
 	�23 �
 E/� �4
\�@���:8 ��n�� \��G�� ��&K�$ 	
 	�23 ��S
  �n�) $���$  $�E
� �2�� ��[ � $�E
� \��G3� =//Q3 � \��

Creep  ratioB]
 	
 	�23 �
 	C )!
�(  %$�OK 	��@� �!� A���Q� ��4$�/Q� =���3 � ��� $2�� ���� 
9 ��/; $��  �W� �� A���
 �� $2@C �E�$ 	����
 � A����� R��:�)  ��� $2�� ?/ST3 $� �$ �30>@� 

  �:�) ���
 k2� �  �W� �$2� %�$ =//Q3  9 �4 	525 $���$ `/TY ���O� �� ��n�� ��E5 �$2� � g)��� .
 ��&5�) �J��#� � ��#"9 R�;���C �/523 :� <[���� =�� R�)��K$�C :� ����Q3 AO4�
 $��@� =/)��&�

9 �)��&� AC�K � �$�����)� :� %��G�)� �
 �$�����)� u�2� B/1  6�>3�)  ���;$:�
PREN ��"+!
�I$� �� 	�/OC $� �7�I (�I$� � ����; 	/&3 =��  $�@��� �
 A)� �/�� 9 �K�
 �� =���3 � ���
 fO� (

 �/523 ,)23 �I�� ��� \��]@� =//Q3 	
 ��E5� � R8 ������ ��4 	��2�@1 =/��3 �  =//Q3 � �$�����)�
���; fG3�� E/� ?>@� =�� R�;���C .

`P) $� AQ�Y =�� A��@/1 � �4 ��)�C =�� f�$ A&� $� ���S
 ��&��  �/�� ��&5�) $� $2@C 
 ���O� �� ��n�� �$  ���@/
 \�$�W��� $2@C $� AQ�Y =�� �2�2� ��&�/��t =>/5� %�K 	�K���
 .

�
c����������� � ��� 

H�O[ ��&@]
 $� R�23 �� �$ ���
 ��4 	525 	
 AL�� =S/3� �S1 ��4 	525 :� %��G�)� ����E� �2O� 	Y0� ��::

�
� 
 �� g�2� �4 	525 k2� =�� R:�  �>L) $� <&� =�� � ���l1 ��n�� A52&) 	
 �&�8 ?OI � g�� 	C ���;
 A/O4� :�  9 ���O� �� 6�n�� �$ �$�l; 	525 ?O[ A[�) �S�� ,���K �� ���� ?T� A/Q 2� 	C �P���K

 A)� $��$2��
 ���E�
 .

�
� 
Y 	
 �$ \U��3� ?T� :� A@� 	C ��4� �� R�@� �2� :� �
2SP� v���� �$�>K2� $� �4 	525 =�� �G
9 A)� A/O4� E^�I w/I �� :� 	Sx�� =�� ���)�/� `P) :� �3U�
 ��/�:��: 68 :��3 `P) 	C �J��� $�

 g�2� ��� =�� 	C ���l1 �O� \$2Y 607�� �$�8 fO� 	>LK 	
  ��/�:��: ��&
8 M���3 �K�
 �� 	525



6

9 607�� 	��� 	/G�3 :� �$���
 %�&
 $� (0�� :� ��/;2S�>LK �4� u���)���o/� 	>LK A/��t � 	 .
 ��/�:��: ��&
8 	
 607�� A@� �K�
 �� 	525 `P) :� �3 =/��1 ��/�:��: 68 :��3 `P) 	C �J��� $�

99 (:��� %�25�K � $��n� ��/�:��: \��/)�3  ... (��� $�  ���l1 �O� \$2Y� $�  :�n� ��4 A@� 
 A)�  %�K 	^�$� =S/3� �S1 ��4 	525 �GY A@� �
 	����� .

) (����(  

��/5 g�I�
 `P) �I�� $� :�n� A@���� �S/� g�I�
 	525 �O)� �P 

!/'��' 
���
�/'!''
�''
"/'�''' 
+''
�/' :� B/
�'''

�
� 
 9 ���
 ��4 	525 :� �3U�
 $�/�
 607�� �
��
 $� �&�8 �U�
 A����� 	
 	�23 �
 �4 	525 =�� �/G� �O[
2� � ���O/) A�
:8 A)�  ��U.

�
" 
 ���l1 D�PQ�� .

�
� 
 � 	525 �2�SI A����� �
 g)���� � g)��� �:�)���
 A��[$ �
 ��$�� ��4$�
 �
��
 $� 62SP� A�����
  %�$�� ��4$�
 .

�
! 
 :� ��� =�� 	C ���)$ ? ��I 	
 �$ 	@���3 y�[ R�23 �� �4 	525 =�� $� g�� A52&) � �>L) 	
 	�23 �

A)� A/O4� E^�I 	L�� ��9  ������ ��4 	��E4 	���) �3 62SP�  �$ 	525 � F�� �S
��3 $���$ 	>��� (�� 

 �4� �� B4�C �$ %�K �$�GI ��&C�� \�2[� ?OI \0>@� � �$�GI $�2� A��� .

�
+ 
 R�>�� � 6���8 </���� B
�3 ��[ A&� g)��� ��4 BK21 	C �P���K $� 9 U�
 $�/�
 �$��$�L�� �O[
 =�� �21� $� �24 R����9 </^�O� ��n�� �4 	525 $�L�� R�>�� 	
 	�23 �
 �o�� ���J :� � A)� �)��)� ?
� 

 �2�� �4 	525 k2� =�� $� <4 ��$ �4 	525 R��C $�L�� R�>�� � <4 ?��� mS�]� ��4E��) �12>�S3 �$��
 �4� �� B4�C �$ �4 	525 $�L�� ���
 ��E5 �$2� `P) �$�� .

�
# 
 =�� (��3�  A&� �[2��� ��&K�$ %��G�)� R�23 �� �>/��>� \U��3� � �$�>K2� k�2�� :� <[� �4 	525
9 ,���K 	
 	��
 	C �2O�9 ������ \�/SO[ :�/� �$2� ?O[ A[�) 6�]��� ?
�  �ST� \���>�� � �4���Q�)�

 ����4 .
 ���; �� %$�K�  (��3� ��&K�$ =��  :� ����Q3 	
  h0�i:

http://www.irpdf.com/


7

��8 ����9�� � �2��: �� ;�#(�
 �4�S12z <4 	
 =S/3� {S1 |�4 	525 (��3� M�$ =��3 %��) 	z����o/��/523 %��) � $�� 	�2� k�2�� $�
��K�L/�.

) ?>K�( 

m5� 
 %��) �S12C (��3� 

) ?>K�( 

6 
  $�� 	�2� �S12C (��3� 

��8 �� �<='5
> �9�� � 4�3 	:�
 ���� �� ;�#(�
 	
 AL�� 	z ��� %��z ��n�� �$ (��3� =�� R�}��$�� Az�) |�4 	525 �/523 �
 R�;���z �/523 :� {��

 A�� $���� =}/5� A)� �3 	��Y 	
 R���� �S12z���� 	
 :�/� � {}/�)U �K�� D��� �W� :� ?L  A5�I

 A)� ?L  A5�I :� ��@/
 |$�  A5�I =�� $� 	525.

) ?>K�( 



8

��8 ��� �9�� � �!���: �� ;�#(�
�$�� {Q/)� ��
$�z |$��&o� R�$�� \��/OQ3 $� � U�
 |�4E��) $� (��3� k2� =��.

)  ?>K"( 

��8 �� �.2'(� <2� ?�- �� ;�#(�
S1 M2� ��l1 R�}��$�� Az�) 	525 �
 	K2; M2�9�S12z �
 	K2; M2�9 g5 	
 g5 \$2Y 	
 =S/3� {

 A)�.

) ?>K�( 

 ��K�
 {� ��: a�K 	
 RX����z� M2� {^���� ?I���:

-3 A � 	
 (��3� ?T� $� 	525 {�$�� � {S��� a2P)����o/� E/O.
-|��� �3 	�/����}5� R���� :� %��G�)� �
 {�)� $�����z��''{5���'���o/� ��; p2/�S) 	�$� .
- %��G�)� E/� ��; |�24 |�4 %���� :� R�2�/� ���o/� ��; |$�}K2� `P) ?Q@� ~� :� %��G�)�  �


���o� ��n�� {^���� ?��2[ {� � <z :� {K�� g/)8 	�2oj/4 �3 ��z.
-�z $���� ��$E3 |$�}K2� `P) 	
 {�)� $�����z� :� %��G�)� �
 =S/3� {S1 _5�� ��2� :� {�

 :� p�1 =/I $� 	z |��2� ���o/� <z���� $�����z� {�2SG3 p�1 B]
 :� %��G�)� �
 � ���o/�
4 ��1 ��E/� R��/
 $�����z� ����o/O.

- �2� ?I��� ���o� =/��3 	SI�� ~� $� |$�}K2� :�/� �$2� �O[  �;� 	
 	��
 	�L5� ����o/� $��}3
,)2�� �O[ �3 {���� $�����z� \$�  � k2��'��z �1 	SI�� ~�$� R�2�/� �$��O/S/� .



@



�A

- |� 	P�� M2� �$�� ��
$�z g5 	
 g5 M2� A5�I $� ��@/
 	z |$�}K2� |��
 E/� |�o�� A5�I
 |�4 (2�G� :� %��G�)� �
"2� |�4����}5� ����� =S/3� {S1 |��O/S/�  %��G�)� �
 	z A)� { �
 M

 (��3� |$�}K2� `P) R��EO4 R�K ��; �
 � %�K 6�i � ��� (2�G� =�� ��� |�24 R�/�� :�
���o/� ��n��.

- D��� =S/3� �S1 |�4 	525 �/523 	���$�z $� 	z �$E
 |�4$�����z� 	
�@� {�)� |�4 $�����C�
� ��2� ��K�L/� �&�8 |$23�/�/� E��) $� ,�� %�2
 ��$�� ����2�/� $�����z� $� %��G�)� �$2� _5�

 |�4 (2�G�" ��K�
 =S/3� {S1 ��2� |�4 	��� �� |��O/S/� .

��8 �1� BC�'
 ��5=�� ?�- ;�#(�
�4�/� (��3� <4 	
 {TP) $2P
 �$ 	�U�� ��2� ��$E3 � 	�/����}5� R���� :� %��G�)� �
 (��3� k2� =��.

 a�K 	
 RX2/� ���}5� M2� {^���� \�}� <4� ��K�
 {� ��::
{
�e � A
2J$ 9 $�L� � ��; 	�2;�4 :� (��3� ?T� |:��z�1

(��3� a2P) $� ��E5 �$2� 6�i \$��I 	
 R�/)$
%�K 6�i _5�� ��2� |�$ {��z $�@�

(��3� ?T� R�2
 ~@�
) ?>K!( 

�
* 
H$��� � �4 	525 =�� <C ��
: g��7 A&� 	
�&�8 D�Y  ��4�P  �4 	525 k2� =�� �I��J ��o�4 
 �W� :� 	>����
 %�0[ � ��8 �� A)�
 ��U2� � R�O/) A�
:8 9 ���
 ��4 	525 	
 AL�� ���OC
 �� �3 ?&) �$ 2@��K ��4 A[�) 	
 �
�/�)� �$�l; ��  �/��3 %�K ��O3 ��4 AO/ �
 ����� �

 �:�) . (��� $�)�( c����� ��4 	525 =/
 �>/5�$�/4 ���K�$ A&� k2��� ��4E��) $� � mS�]� 
 A)� %�K 	^�$� gSP� R�K .



��

 ) (����( 
=S/3� {S1 |�4 	525

p0; �L��� |�4 	525{) |� {1 |�4 	525
(��/�)�A/;�$�z

{��
 ��4 	525

 fP�� {
�
 $� ��/5 �1

	/���

 {S��� �P
��� {S/�

 fP�� {
�
 $� ��/5 �1

	/���

 {S��� �P
� {S/���

 fP�� {
�
 $� ��/5 �1

	/���

 {S��� �P
��� {S/�

 fP�� {
�
 $� ��/5 �1

	/���

 {S��� �P
��� {S/�

 fP�� {
�
 $� ��/5 �1

	/���

 {S��� �P
��� {S/�

�+/�*''

'!/�*''��/�*''��/��'''
�!/�+''

�'/�+�'�"/�+�'�+/�#''
�#/'��'��/'����+/'�����/'����'/'"''
'+/'��''*/'��''+/'��''#/'��''*/'�''

�
�' 
 ��2K �O� 	��>K =/�: \�C�I �/��3 AT3 .

�
�� 
 BG�
 d�$� �� 	QK� � �/K$2� </���� $2� �/��3 AT3 	/5�� ��2� $� %�/) ��
�C %��� �2�� A&� 	

25 R:� � \$��I :� �K�� ��4 ?>K �//s3 ��[ A&� 	
 =>/5� ��$�8 �� ���� ��$ �
 ��� 2� ��4 	5

 ����; AW��T� �/K$2� $2� </���� B
�3 :� A���
 �� �&�8 �$��$�L�� $� 9 21� ����T3 ��4 	525 .

�
�� 
 �� �3 ��S
 �&�8 ��4 	��K (2J 	>��� �
 %�0[ �4 	525 =�� .L) R:� � ���l1 D�PQ��  A&� 	

 ?��� <4 	
 	@���3 R��/
 $� �$ �4 	525 =�� R�23 �� ��K�
 ��4 	��E4 � ?O[ A[�) �W� :� 	C ��C

 ���; �� �3 	��Y 	
 R���� 	@���3 y�[ � ������ .

�
�� 
 =���e :� 	C %�2
 ���
 ��4 	525  :� ��OC ��/523 ��4 	��K ��S
 (2J 	
 	�23 �
 \U��3� ���Q3
 �  \�/SO[ =/I �$�l; 	525 g/K (���C 9 A@� (���C 9 ����� � :� <[� w/I  ....O4� E^�I � A/

 �K�
 �� A/T�$� ��$�� .

�
�" 
 �4 	525 =���' �  �$���
 %�&
 �W� :� (�) �''' ��$�8 �� ���� ?>K �//s3 �W� :�  (�)  .

�
�� 
 %X��1 $� � ����; g�� � ?OI mS�]� r��� 	
 ����23 �� ��I�$ 	
 �4 	525 =�� ��/523 \�n���$�C
5 =/��3 A[�) � 	�)�C 	525 ?OI ��4 	��E4 :� �$E
 ��4 �
�� B��E�� 	52 .

�
�! 
 D�PQ�� A&� 	
 �$���
 %�&
 =/I $� � �$�l; 	525 :� u1 g��Q� f�$ � (��3� R��E�� 9 </��3 R�>��
 �$�� �2�� ��I��
  (2Y25� ?&) \U��3� � ���l1 .

�
�+ 
9A/G/C9A[�) �
 =S/3� �S1 ��4 	525 :� %��G�)� �
 �$ ��8 A��) R�>�� �$�� �2�� ��OC 	��E4 � ���� .

 (�>K� $�! A��s5 �' A)� %�K %$�K� =S/3� �S1 ��4�$ ��8 mS�]� ��&�5�I 	
  .



��



��



��



�1



�6



�7

�
c����� ����� � 
 �K�
 �� $���� �&�8 ��L� fO� � 	��;��� B]
 ��e $� ���
 � =S/3� �S1 ��4 	525 =/
  ����� � 	�����:

�
� 
 $�C ��1 $� ?�2T3 	525 %�K ��O3 AO/ .

�
� 
�
 :� ��;$E
 �� ����� $�P � $� %��2
 ���
 ��4 	525 �/523 AO/ !''�
 �4 	525 =�� 	C ��O/S/�  \$2
 A)� =S/3� �S1 ��4 	525 :� �3U�
 ����; �� �/523 `S�� .

�
� 
�
 ��4 	525 :� ��OC �12>�S3 ��/;$�
  R�>�� � R:� �>L) 	
 	�23 �
 =S/3� �S1 ��4 	525 ?OI 	��E4
 ��
 $� 	C 	�2o��O4 �o��  �^2) :� � A)� ���
)� 
��(  %X��1 $� �/523 	���$�C ?OI R�>�� �K %$�K� 

;$E
 ��4 �$�� �2�� E/� ?OI ��4 	��E4 ��@/
 	e�4 B4�C 2 .

�
� 
�
c/5�� ��2� R�O/) =/��3 ��4 	��E4 � \0>@� � %�2
 �O/K���1 f���Y :� =S/3� �S1 ��4 	525 �/523 
9 ��4 	525 ���
 %�K ��O3 AO/  B4�C ?��2[ :� �>� ���
 ��4 	525 �/523 ���
 ��oS/� � 	)�� � =K

 A)� =S/3� �S1 .

�
� 
�E4 =/
 �� =S/3� �S1 ��4 	525 (��Q� $�P � ���
 	��1 �I�� d�&
 A)�&� $� �$�l; 	525 ��4 	��� �3 "'
 A)� ���
 ��4 	525 �Y$� .

 ��$�� B�� ?��[ =���e 	����� =�� $�:
�
� 
�
 ��
 $� 	C 	�2o��O4)� 
*(  (��� �� ��OC ��
: g��7 9 ����; 	^�$� � R�2�[ 

�� $�/�
 �>/5�$�/4 ,���K 	525 	
 AL�� (��Q� �P  � ���O� �� ��n�� ���L)�
 � �$�GI $�2� A��� � �C�� \�/SO[ ��4 	��E4 $� ?��[ =�� 9 �2@/� ��OC ���


	525�$��  �@4�C �/��3 �$�l; .

�
� 
�
(25 ��&G��$ �I�� d�&
 ���I =S/3� �S1 ��4 	525 �$�l; �� % �P  �
 ���
 ��4 	525
 ��
 	
 	�23 �
 	C A)� R��>�)� 
�
� (  �3 AL�� =��"� % �
�� �� B4�C E/� .

�
� 
�
 :� ��;$E
 $�P � $� =S/3� �S1 ��4 	525 �
 �$�l; 	525 $� 	@���3 ��OC y�[ A&� 	

��' ��4 	525 	
 AL�� �$�GI $�2� A��� � �C�� \�/SO[ ��4 	��E4 ��� �S/� 

 A)� ��OC ���
 .

�
� 
"
 � $� =S/3� �S1 ��4 	525 �:�)���
 ��4 	��E4 :� ��OC $�P"'' 	
 	��
 ��O/S/� 
 �3 �GY =/
 �� 	525 �2�SI A������� %�2
 (��Q� ���
 ��4 	525 :� ��@/
 �Y$�  

 :� ��;$E
 $�P � $� =>/5�"'' 68:��3 ��: �$�l; 	525 ,���K $� � ��O/S/� 
 	
 AL�� ���
 ��4 	525 �:�)���
 ��4 	��E4 � 	���� �//s3 	5��Q� =�� ��/�:��:

	525 �3 �GY ���I B��E��  =S/3� �S1 ��4 �� ��$�� ��Y$� .



�8

 (��� $�)"  (  ��Y$� \$2�
  �>/5�$�/4 (��Q� �P  �
 �4 	525 ���) �
 ���
 ��4 	525 ������ ��4 	��E4
 ��� %�K 	����� .

 (���)"( 
p0;�L��� ��4 	525�) �� �1 ��4 	525=S/3� �S1 ��4 	525���
 ��4 	525

Y$� ��O3 AO/  �
 	525 	
 AL�� %�K

���

�t���� �S��� �P 

 ��O3 AO/  �Y$�
 	525 	
 AL�� %�K

���

�t���� �S��� �P 

 ��O3 AO/  �Y$�
 	525 	
 AL�� %�K

���

�t���� �S��� �P 

�S��� �P 
��O/S/�

�+/"�*''
*''+*/�#*''�'''
��/�!+�'
+�'!�/��+�'#''
�+/"����##/�"�����/�#���"''
'#/"*��'�#/����'!�/�'��'�''

�
� 
 R�>�� 9 ��U2J �O[ :� <[� ����; �� 	^�$� �$���
 %�&
 � ���� 	����� ��4 B]
 $� 	C �4 ����$�1 ���

 a0Y� � �//s3 ��4 	��E4 � �$���
 %�&
 �O��� ��4 	��E4 :� 	C �3 R�:$� � �3 ?&) �O/��3 \�/SO[

�C �� 	>LK9 ��4 $� =S/3� �S1 ��4 	525 A/L5�� A&� 	
 	C 	�K�l; ����
 �2� :� ����� � \��/��3
 ���; �� 6����� 	5��� =�� $� �&�8 \�L)�T� 	^�$� :� �0C ?�2P3 :� E/4�1 � 	�/�: =�� .



�@

"
c����� ����

9 B��) �
��
$� �^U�
 A����� =S/3� �S1 ��4 	525� ��&5�/) 9 ��/)� ��2� ��4� �� :��
 �2� :� =�U�>58 � �>O .
"
� 
 ?>K $�)�� ( �K�
 �� �����$� ���O58 %�o@���$� %��� ?O[ 	
 \��/�T3 ?Y�I 	C �� 	����� ���;���

H��4� R�@� 	C A)� %�K 	^�$� 9 �K�
 �� B��) �
��
 $� ��l1 D�PQ�� ��4 	525 �U�
 A�����  .

 ?>K)��( 



�A

"
� 
 $� ?>K)��(  	^�$� R��: \�� (2J $� �2�SI A����� \��//s3 �W� :� =S/3� �S1 ��4 	525 �/G� �O[ 
H��4� R�@� � A)� %�K (2J $� �^E� �//s3 �'�K�
 �� (�)  . :� �>� \��/523 ���
 ���;��� =��

9 �/523 	)��1 9 	/5�� ��2� k2� 	
 	��
 � %�2
  �^�1�$� ��4 	���$�CfP�� \�/^E� 	525 �P  � 	525 $��� 
 %$�K� R8 	
 E/� 	5��� =�� 	���� $� 	C A)� ��$�2� :� �>� � %�2
 \��G�� mS�]� \�n���$�C ��/523
 =�� mS�]� ��4 %�$ � mS�]� $�P � $� �2� \��/523 ���
 A���
 �� �S��� R�;���C �/523 � %����;

 ��4� ��n�� �$ \�@���:8 .

 ?>K)��( 

"
� 
 ?>K $�)��  (  ��4 	���$�C :� �>�  \��/523 ���
 R��: \�� (2J $�  	�/�/�)U� (��� \��//s3
 $���� 	C A)� %�K 	^�$� �^�1�$�Creep  ratio 9 �/523 mS�]� ��4 %�$ 9 $�P � ���
 ���;��� =�� :� 

c/5�� ��2��)$���$ $�  R8 :� R�23 �� � ���; �� ���]�)� 	525 $���  fP�� � \��G��  \�� ��S
  �n
 ��C %��G�)� ��/523 ��4 	525 .

 ?>K)��( 



��

�
c����� �$���
 %�&
 

�
� 
 ��4��
 $� 	C 	�2o��O4�
�' � � 
�! � �O/��3 \�/SO[ ��n�� �W� :� =S/3� �S1 ��4 	525  9 �K R�2�[ 

 ��4 	525 	
 AL�� �$�/�
 ����E� ��$�� =/�: ��4 ���n
�� �
��
 $�  A����� ?��[ =�� 9 ����4 ���

 :�/� � %��� B��E�� �$  a�J %$�� � %��� B��E�� �$ =S/3� �S1 ��4 	525 �
 %�K ���� ��4 	>LK �/G� �O[
 $�/�
 �$ �SY� r2P� � �[�� ��4 	>LK  a0Y� 	
 :�/� hU2Y� � �:���� �� �/��3 	
 �$ 	>LK a0Y� 	



 	��
�� �$ (����� r2P� a0Y� � 	���) $��� $� 	>/5�I $� ���O� �� \�� ��S
 $� $��n� ��4 	Q)23 	
 �$�� </���� �/��3 ����$�1 =�� $� E/� 	525 �O[ 9 ���
 ��4 	525.

�
� 
9 ��@/
 =S/3� �S1 ��4 	525 $� �$���
 %�&
 (2J $� � ���� :� u1 \U��3� � \�
�Q@�� ��n�� R�>�� ����:$�
 �K�
 �� �3 ?&) �  .

�
� 
S1 ��4 	525 $� $� h�3�O[ 	C 	�K�� �2�� �C����: �i2� \���2/I ,)23 R�K %��2� R�>�� =S/3� �
9 �4 	4��
8 :� �4 	525 =�� $2L[ ?T� A)� ���) ��&
8 �$�8 fO� � 607�� �$�n� . ��G3� \$�� 	
 	C

?
�  �>48 `5��� �
 fJ��� =�� $� 	525 D��J� BK21 R2e �3��/&O3 �
 E/� :��
 \$2Y$� � %�����
 A)� ��/o@/1 .




